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9. Read the followin

£ statements carefully;

: - Balance of Paymens isaSYSlem&tic record 0!

the world dyringa given k
. q Trade is the difference peqyeen the ¥
0" BOOCS imported in a given year,
In the light of the given statement
() Both the statements are true
(b) Both the statements are false
(c) Statement 1 is true and statement 2 is false
(d) Statement 1 is false and statement 2 js true

S, choose the ¢orreet lERMAMEEE

rtion (A): Central bank as a banker (o the goverument, WOrks 8615

A eettlement L.
- Reason (R): The central bank acts as a clearing house for tranSter EEEEE

of commercial banks. Altematives: o ic the. col

(a) Both Assertion (A) and Reason (R) are true and REASOIAIAES

Assertion (A) ] 1) is not il

(b) Both Assertion (A) and Reason (R) are true andREABO0N 4] 22 S8

Assertion (A) _

(c) Assertion (A) is true but Reason (R) is false
{d) Assertion (A) is false but Reason (R) is true | "”1*
OR .
Read the following statements-Assertion (A) and Reason (R). Choose one
alternatives given below: ok e R L
Assertion (A): Banks charge a higher interest rate of -u-:‘r'ﬂ__‘{-ij.if“'f-ﬁfz‘:"’“f bt At L Rt
Reason (R):- The difference between what is charged from borrowers anc
depositors is the main source of income of the bank
Alternatives:

(ay Both Assertion (A) and Reason (R) are true and Reason (R) is the co Xplanatior
Assertion (A) S .

(b) Both Assertion (A) and Reason (R) are true R) is not the corree explanation of
Assertion (A)

(¢) Assertion (A) is true but Reason (R) i's false
(d) Assertion (A) is false but Reason (R) is true







18. Read the following statements carefully:

19.

(a) Great Proletarian Cultural Revolution
{e) Great Leap Forward
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(b) Tax rates on higher income group have been jngfea

(a) Explai.n the role of government budget in fighiing inflatio
(b) Explain why public goods should be provided by th
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Section B-Indian Econ

Multiple Choice Questions (Q1810 Q27)

Statement 1: The emergence of Self-Help Groups (8
inequalities of the formal credit system.

Statement 2: The borrowings from SHGs main y confined to
members.

In the light of the given statements, choose the correg
fa) Both the statements are true "
(b) Both the statements are false
(c) Statement 1 is true and statement 2 is false
(d) Statement 1 is false and statement 2 is true

campaign aimed at industrialising the Chinag















